1 BEANCL > THHFRTRENEZ oNneT 0T 5 A

#include <stdio.h>

void main(){
long n, i;
printf("Input n(Million): ");
scanf ("%d4d", &n);
n *= 1000000;

for(i = 1; i <= n; i++) i+1;
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n(Million) | B[ (sec) | EAEE (Million) n(Million) | B[ (sec) | EAEE (Million)
100 4.32 400 350 15.08 1400
150 6.46 600 400 17.23 1600
200 8.61 800 450 19.39 1800
250 10.78 1000 500 21.54 2000
300 12.93 1200 550 23.69 2200
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x | 400 600 800 1000 1200 1400 1600 1800 2000 2200 13000
Y 4.32 6.46 8.61 10.78 12.93 15.08 17.23 19.39 21.54 23.69 140.03
Ty | 1728 3876 6888 10780 15516 21112 27568 34902 43080 52118 217568
z2 | 160000 | 360000 | 640000 | 1000000 | 1440000 | 1960000 | 2560000 | 3240000 | 4000000 | 4840000 | 20200000
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